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403 XXX S =0l 920,000 844,000 76,000
& 740,000
S 180,000
01 MHXIEMA=ZE = 920,000 844,000 76,000
OHA23 A E 920,000
= 740,000
= 180,000
EoIIB L F & 323,000 224,600 98,400
201 LEH2HH| 1,000 201,000 A200,000
01 AtR2t2itl 1,000 201,000 /200,000
Og et ==l 1,000
OHItRRS 1,000
202 O4dl 7,000 8,600 A1,600
01 =LHAOYI 7,000 8,600 A 1,600
O=2a| gt 2 g =80 H| 7,000
203 AR =& 15,000 15,000 0
03 A=A HSE=LH| 15,000 15,000 0
O2sttl=s4 YR F=2H 15,000
403 XXX SA=01d 300,000 0 300,000
01 TXISHMAZE = 300,000 0 300,000
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< 113,000
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OEY NS HAAY 100,000
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SN RS
HH: BIMsLMLTE (2L 2 /230=)
@2l N =2stetdst X (ctel: &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
= 200,000
& 90,000
308 XX HHSOIA 290,000 0 290,000
=2 200,000
& 90,000
01 MXESMBLEXS 290,000 0 290,000
O E=HSHMIMNZ 290,000
2 200,000
& 90,000
NEl=a4d3tiA 10,291,221 7,944,183 2,347,038
=2 668,210
J| 2,252,000
= 160,000
& 7,211,011
JI=d=dEsdu=sX& 741,273 751,485 210,212
=2 570,210
& 171,063
308 XX HHSO0IA 741,273 751,485 A10,212
=2 570,210
& 171,063
01 AXEHMBLEXS 741,273 751,485 210,212
O A2 0 =2 AL ALY 741,273
= 570,210
= 171,063
HEHEslt=asY2d XN 331,000 276,000 55,000
307 212t01& 331,000 276,000 55,000
02 2ItBAE X 291,000 276,000 15,000
OH203 =2 RSN EHEEE IR 14,000
OH298| M= H S MEHEE &L 10,000
OH3BsI B=0l=UHEM = XA 60,000
[JHI38SI A= M Ol CH& OH = XI & 20,000
OH22sl A=A S HOHE X & 20,000
OH203 A=2E A HASHONE XA 12,000
20110t H 323 H X 10,000
OM222 2 =R MHE X & 20,000
CJHI3BSI A= AR CH & OH = XTI & 25,000
OH143 2ot 7 A48 AN S 2N E X 15,000
20113 =ES& =M= K& 40,000
OOXIOHEAlOl = 0 F & IHE X2 20,000
O201ME=ESAHMMEXN A (S HAUS]) 15,000
O9s =Wl S &M= X 10,000
05 2IZtRAEZ 40,000 0 40,000
Oggt=tsag 40,000
JIEtEtM =& s A& 1,049,000 648,000 401,000
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308 XX SHHSOIA 649,000 648,000 1,000
01 IXNSMBLNEES 649,000 648,000 1,000
OX1438 < St MIOHE X & 50,000
OH123| et =2 & =M 0 = X &~ 63,000
OM12 2 OH=2 1A S MO0 E X & 50,000
ORI M= ZAEHUZM=SMEIXR 20,000
OH19s B A ECS=UHS MO X 40,000
CIXI393! &l 2t 2 3t M OH = X & 80,000
OHezlsclSE 2 M= K& 90,000
CIBHIF A & R OH = X & 10,000
[JE8 A1 0H & A OH 2| KT 2 15,000
O0IZ /018 A ZEEHA 21,000
0201172 0| & =22 0LAIOtA=MIXI & 20,000
oS|I M I NNSFHA=SHOHE XA 50,000
CI201 1 All HI A Ol CH & D1 = KT & 30,000
O2AASRSHNUALZME 20,000
2011 A< & H 30,000
20112 ==HOtEHA 60,000
403 A XISHSA201H 400,000 0 400,000
01 MXEMA=2E =R 400,000 0 400,000
OsiEsteds|s = 400,000
Ol=0t3tdI0I S X & 50,000 83,000 A 33,000
307 gI12told 50,000 83,000 233,000
02 2ItAASE X 50,000 83,000 233,000
OolsSH=02tH0I2E K& 20,000
OSSO (BHEZIAINRLM)MEX 30,000
HSHEHHSA 193,000 275,000 82,000
308 MXIHMSOIA 193,000 275,000 A82,000
01 MAXEHMBLEXS 193,000 275,000 A82,000
O3 201832 HEHE X & 35,000
COH203 M2 EIH0t=Z A= K& 30,000
CH108 M= - IOt B E 3 0= X & 27,000
X293 M == 2 CH A & O = X & 25,000
ORI MtEE = AEH0SR2ZZAUS X 7,000
OFEE=01(=3)88XE 12,000
OHbsedgd=0tcl 23S U HNE X & 18,000
O2011 ™ S ASI S HIIH = K& 24,000
OH2s| M2 AIZZ &S XA 15,000
H0Pt= 2= 320,000 320,000 0
= 160,000
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0f 4 o8
= 160,000
307 QI12t0I & 320,000 320,000 0
= 160,000
= 160,000
02 2ItAASE X 320,000 320,000 0
O0=23 320,000
= 160,000
= 160,000
ANEll=&dst=a 22,000 24,100 22,100
201 Let2d| 5,000 5,000 0
01 AtE22(H] 5,000 5,000 0
Deet=3l 5,000
O =S 5,000
202 O4Hl 17,000 19,100 22,100
01 =Wl 17,000 19,100 22,100
OXYt=e43 (0] 17,000
ZEAMHEAH2S 50,000 50,000 0
J| 25,000
= 25,000
307 GI12t0ld 50,000 50,000 0
| 25,000
L= 25,000
02 BltAANE X 50,000 50,000 0
O3S AL EZ 50,000
J| 25,000
T 25,000
KEAsl 23t s A& 90,000 61,000 29,000
= 90,000
308 NXIHHSOIH 90,000 61,000 29,000
= 90,000
01 MXEHINELS 90,000 61,000 29,000
DAzl 2sttlzsn=s 90,000
= 90,000
CEHUl=H=2Z 4,604,948 4,601,598 3,350
301 EtEN = 4,584,948 4,584,948 0
11 =t - 2sRSEHS 4,584,948 4,584,948 0
OS24 2E4(69Y) 1,602,895
oJlzs 808,639
- X=Xt 3,020,300& «1E»12& 36,244
or &t 2,533,800& 1 »12& 30,406
- OHR XL 2,363,000& x1H»12& 28,356
- =4 2,065,000 x7H »12& 173,460




M Z3t0=n

HH: BIMsLMLTE (2L 2 /230=)
tel: NYt=24s X
SN S(B) - NRAY - B2 O] &k o8 B
0l &

- XA 1,749,000& x7E 123 146,916
-3 296,536
- MNEE 2,210,900 x 18 »12& 26,531
- MEH 1,949,700& x3& 123 70,190
OF =y 1,397,415,000& *1/12 116,452
OY&EFItHl  1,397,415,000& 1/12x60%+*23| 139,742

OJHAIXI &bl
1,397,415,000% 1/12%16. 7%+ 12 233,369
Olls=¢% 93,000
- NIkt 200,000 x1H«12& 2,400
-4 180,000 x1H +12& 2,160
- OH2 Xt 160,000 *1H »12H 1,920
- =4 150,000& «7H «12& 12,600
- XA 130,000& 7~ 123 10,920
- =3 100,000 «48F » 12 57,600
- ARE 150,000 x1H «12& 1,800
- AR & 100,000& 3+ 12& 3,600
O&el=¢ 30,600
- CE 50,000 »48H « 123 28,800
- AR 50,000 x3H «12& 1,800
O 31,800
- XIS A 450,0003 x1E«12& 5,400
- & 300,000 x1H«12& 3,600
- QIR 200,000& 1H~12& 2,400
- A 100,000 «7H «12& 8,400
- Xt 50,000& x7E «12& 4,200
- ARE 200,000 x1H«12& 2,400
NS 150,000& 3H 122 5,400
O g 2=l 60,960
- X3 X 200,000& 1H~ 123 2,400
- oE 150,000& x1H «12& 1,800
- OHR X} 90,0003 x1H«12& 1,080
- A 70,0003 62 x 122 52,080
- AMNRE 90,0003 x1E+12& 1,080
- MEH 70,0003 x3E x12& 2,520
OF M GAHI 90,000 x69 123 74,520
OXHsHIE xS 13,813
-Ss 51,9903 »8& *43] 1,664
- 1SSk 433,880& »7H *43] 12,149
OS S Wse e 4 (78Y) 2,497,153
oJl=g 1,594,901
- NI & At 2,596,400 x1H 128 31,157
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-orm 2,812,0002 x 1%~ 128 33,744

SRS 1,816,000 x84 * 128 174,336

- XA 1,627,4002 x4+ 128 78,116

o 1,172,544

-AR2E 2,779,400 x 1%+ 128 33,353

- AR 1,990,3002 x3% * 128 71,651

Oox2ay 1,624,613,0002 *1/12 135,385

OYEEI  1,624,613,0002 *1/12+60%+23] 162,462
OJtAIX & H

1,624,613,00021 %1/ 12%16. 7%+ 122 271,311

Olls+¢ 102,960

- X3 Xt 20,0002 * 12 x 128 2,400

- ot & 180,00084 » 12 » 128 2,160

P 150,000%! +8% » 128 14,400

- b4 130,0002 x4 %+ 128 6,240

o 100,00024 60 * 122 72,000

AR 180,0002 * 124 * 128 2,160

- AR e 100,00024 x32 » 128 3,600

ox+y 37,800

- e 50,0002 *60% 122 36,000
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Oxag 30,000
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S AA 100,0008! 8% x 128 9,600

- b4 50,0009 *4% =128 2,400
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- A28 150,0002 3% * 128 5,400

O=ZEXEH| 69,000
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SH-EFHHA(FA) - NIRAE - BES Of] AF R '@,‘;OH Hos

BECIENEPONESS, 300,0002 *1 74 300

EETEV PPN 48,000 48,000 0
= 8,000
[ 40,000

308 KXl EHH S OI & 48,000 48,000 0
= 8,000
[ 40,000

01 HXESHBAEES 48,000 48,000 0
Ot =20 &0 =S/ AN 48,000
= 8,000
[ 40,000

NEE DL 300,000 320,000 ~20,000
p] 150,000
= 150,000

201 Ler2oy| 20,000 20,000 0
| 10,000
[ 10,000

01 At 2l 20,000 20,000 0
Negag 20,000
OZELI2BRALAAIL Bt 20,000
p 10,000
[ 10,000

307 2I2+0| & 280,000 300,000 ~20,000
p] 140,000
[ 140,000

02 BIAFABE 280,000 300,000 £20,000
DZAZATUHSEN L 180,000
| 90,000
[ 90,000
OZBHEHHIESSLNE 100,000
p] 50,000
[ 50,000

N = O] 340,000 330,000 10,000
p 170,000
< 170,000

307 QI210|H 340,000 330,000 10,000
p] 170,000
< 170,000
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Lo &t A AL A2 X & 10,000
O I RAI2EA 30,000
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Osstol=H 30,000
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DBdgsUaldet=2E AU 35,000
05 QIZtRE = 300,000 200,000 100,000
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HEUSAESKE 100,000 100,000 0
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01 XM= E X 100,000 100,000 0

_15_




oF
R’

ok
o)

SHoll = 1t
HOIl = &t
et =5t

3
5

=
[
=
- T
=
[

Rk
(==l
Sl

X{ ZH -

o o o o o () (@) o o o o o o o o o o
o o o [«] (@] o (@] o o o (@] o o o o
S| |S =1 ~ N |« Sle|e N N Slefe
A0 818 |8 =) Dy P LI 2 2 3|28
Ko NN 41 4|« 3 3 BRA RS
E
-
o o o o o o o o o o o o o o o o o
[e] o o [«] (&} [e] o o (@] o o o o o o o o
(] (e) (] (e} Al (e} o Al Al (e) (@) (] (] o (&) (@) (]
slolo S < | |o B P P o o slolos
Ql Al Lo S — — — «© «© O — — <t [qV] N~
<) 0 TS
R=
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o O o O o O o o o o o o
o o o (] o o o o o (] o o o o (=] o o o o o o o o o o o o o o O O O o O O O o o (] o
S|S|o|e o85S S oS oS SO oSSl S ool o|o|o|led oo onnoor|S|S|S S
o © «© O O O O O O o © O o O O [q\] (ep) @ ™M o™ ()] (o) NN e)] [<o} «© © — w0 <t ©O O W <t O O W o (e} o O
([} o] [e0) (e} NS (93) < (ep] (ep] Al Lo ($3) (o] <t <t — (95) (93) (ep] [aN} — D O O Al QD O O Al (o) [e0) Yo} Ye]
— Ye) Ye) Lo Al o Mt © a Mt © — — —
3 6 «wao|lw o
<
=
A W o W
or Kl
X0 w o
| = [0
B R ® o 5 o
H o = e ol o
ol - 80 = " = — by )
= o= K = ~ K =) 0 =
= R o o 3w ®l 3l <) 5! M
D W OR o D v <R = R) o oK f
=3 R & 5 K o BB o Kr = 8| ™ 1
O 1= nNRSRE R W = al g 0| Oy 20
= |«o WS PR =W R H < ujo = m % o %
= |r o g M .Nr =z = H A 3l D KioS | o o
o |w I R R i =Y WO OF = AN R T o
o | Ki 30 &R oo 0B g0 o) XK 0 Q0| R EaRl: 5} S|z 2 o mm 0 K %
5 x| HE R 58l o ®RAMYDAN|K[D|3 0K HO | B0 | U [R0 R OB | g o o H
wﬁ%H_Mozoq_azoawmﬂnEMﬂamd%aAToI_ T |H|=E|I®E B OA[E = :___&Mo__ua
- | |S|R AT <l s BB RT ||| DD S w00 | O[T W4 | KI SR o
R sl s o= /d 3 2|m|a|oral Olc|T W s vk & all|lr il K| & [ =
R |0Olw|la|ls 00000000 @ 0O0Ow|an|z O s|inm O|ls|R|(r O O]a I 3|5 la O
: D~ | < FOJ [ o | = [ o | — <! <0 1 N N
T | 8|° © o | & LI I1K8|° Rl 30 | 8|
o+ O O 3l = ol | om
oy O

1l

_16_



SH: 230z
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] _ - HEE =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
ORIBE B SCHESSLINAZDA 50,000
OR78 B4 S EHAECRARDH 50,000
05 DIZHSIES 30,000 50,000 20,000
BEPSEEE R R Ry 30,000
SHFMBEHAYET 45,800 43,000 2,800
201 LByl 16,800 12,000 4,800
01 Attt 11,800 7,000 4,800
mEEIES=Y] 7,000
O3lANERS 7,000
Negsg 4,800
OBNECRHRHUXMNAT LRGBS
204t 4,800
02 IT2YH| 5,000 5,000 0
D222 YHAl 5,000
OB=LY2IHN0LEHOIXSY 5,000
202 01t 9,000 21,000 A2,000
01 =2Uioibl 19,000 21,000 A2,000
mELINEEES I 19,000
203 HRFAY| 10,000 10,000 0
03 AlZZ=TQ R =AY 10,000 10,000 0
O2st AR =Y 10,000
Y=oz NAME 4,209,000 4,350,000 A 141,000
=l 2,409,000
= 1,800,000
403 RHXISHH SX20|H 4,209,000 4,350,000 A141,000
3 2,409,000
= 1,800,000
01 MXSHMAZDE 4,209,000 4,350,000 A141,000
sEEECEEESEREEE 4,209,000
3 2,409,000
= 1,800,000
SRS 300,000 980,000 680,000
308 XHXIEHHI SO & 300,000 980,000 680,000
01 RASHBASES 300,000 980,000 680,000
CIRI43| 2 A S XA OO = Ole A T X T} 5 50,000
mEPOE T CTE=E N EER= 100,000
EEEEI=E RS 150,000
CIXE 26 = A0 g4 600,000 0 600,000
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307 QI2H0IH 600,000 0 600,000
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= 300,000
02 BFAEE 600,000 0 600,000
D252 e =30 S & LN 600,000
= 300,000
= 300,000
HHSAJH (SE0Z D) (JIEH/DIEH) 147,423 125,011 22,412
oz 2oy 16,523 16,011 512
ole 2oty 16,523 16,011 512
101 Q12| 16,523 16,011 512
03 RIIAHA2EXE S 16,523 16,011 512
Og&E- IR (L) 16,523
oJea 38,8502 * 1242492 9,674
o802 9,674,000 *1/12+400% 3,225
O=g+Y 38,8509 *12 x50 2,021
O+ g 33,8502 12 #1521 583
ORES = x| 60,0002 12 * 122 720
OY = £ IH| 150, 0008 *12 %23 300
o223l 130,900 109,000 21,900
122l 130,900 109,000 21,900
201 Y2 Y| 61,700 60,000 1,700
01 At2z2l| 55,700 51,500 4,200
D etag| 30,000
O=MSgYst+2H| 30,000
neg4+g 13,200
OllHNZER LRSI &S 2HL 0]
150, 00021 %229 *43| 13,200
BEET 12,500
O=sageEx S| 12,500
02 ZZ2YH| 6,000 8,500 A2,500
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CIAIA YIS 8 5,000
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202 01t 8,600 10,000 A1,400
01 =UotHl 8,600 10,000 A 1,400
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01 JZeYLREA| 6,600 6,600 0
0=% 6,600
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01 MMz A2 LHAY| 32,400 19,800 12,600
O=2 600,000 1H « 122 7,200
O 350,000 6% « 122 25,200
MRS (2so=u)(2sL2Z /250 =) 2,116,000 2,246,000 A 130,000
pJ 558,000
[= 1,558,000
HEHH K= 2,116,000 2,246,000 130,000
) 558,000
[= 1,558,000
NE230ssd 1,116,000 1,246,000 A 130,000
] 558,000
[ 558,000
702 JISHES 1,116,000 1,246,000 A 130,000
p 558,000
[= 558,000
01 JI2HEE2 1,116,000 1,246,000 A 130,000
OXY25H== 84X (2HTED2) 1,116,000
pJ 558,000
[= 558,000
23 =rEI2 XA 1,000,000 1,000,000 0
702 JI2H=2 1,000,000 1,000,000 0
01 JI2E=2 1,000,000 1,000,000 0
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